STRTICS

g D)
= =l R s Nov.2s/i¢
@\ am“w/? ﬁM“ = ®
(=4 1») A N Aol 2 s e 1
A £ R
e 7( so)(2) + Db(u)-ur( 20)(2)(5)
— - o~ . 2> Dy = 7Em R
T 2en 2en | RN
o b e
se w -
- 20 n =2 75 -80 - 4@ + Q)
— t i =2 A=15 o Py - -
= I SRR PR
wQ ¥
G = s e,
(B v
- & B . T st . - o E
|l © ) ) / From Weew o
@ = (__ kU“Qt:o.\ /
-85 uw , - -
‘JL T )
1 1 L e Fogier. &
. .
M ’ ' ' T
so :
; .
\_A_A : B
c \ 9'7"\ D e
NV - e
-4 e m 21 B
; P S
@ / The coefficiendt of Friction are A, - @.Hy and o
/l/l-.‘ = D3A® b&weg.\ all sorfoces 6 Condtoct.

De&erm:ng_

the smales+ Forece *P‘,ML +o
: Yo
tor+ 4he 30 Uo Mouvina F Cable A

(“) s attoched oS Shown

Cb) =5 femoved

<) F‘Cc bod"%_ d: fagreen F°r,,ﬁ\& Arten, - bloes

7 V(20-as1y —— (@62 =~ = w,
P EY TN 7 O B : R
| T o
- s
_Fhre £Fx =@ -
B RO, = 196.2 o T-F, - @¥‘; Te7sug~




Free- body  dicaram For +he 3@ ka  blocw:

$¥. I

tw;-aqqu

(3w “ad(q.8lm/s) = 2ay.3 .,

PQ——4 w‘

"

T, N. = 196.2 «2a4.3 = 49, g v

EFy= @ Fo = wu((4aw.5) =«|l19s 2

b) Ffee~ \:odg\ A_?Qqcc;ﬂ\ oF \Do-\vh blocV—s 2

W= kae.6 w~

| ™= 4.5~

—ZF-~o

P= pmyn = -@u(4qws) =}l‘?é.2 N—[

@ The orfonaement €xects o herizeatal Force on +he

S-i-aul—:onc\ru\ Crote. The crate Weighs toe s, tad
\J A=)

+he Coefficient OF Static Frictian be-\—weeu 4he

Cfote oand the Camp S Ms = @k

?l What 35 4the lat3e54

Force 4he rope can

Va

exert on dhne Crate

IR P
.

W iYhpor Co.us:nc\ + to
NI

Move. op the FAMP?

a) f +he fope exerts <« 4oor Foree on the crate

lwhat+ s 4e Fricizon Force exerted on Hthe crade

by the comp?




STRTICS

@
Nov.30//(¢
Review Problem l‘\ @
EFa ~@ = :F;g*-?n'c’ﬂ + P +rQ @ Tﬁ(po..nQ)
2> Té.ae *Tac'-ré.“+p€°,* D = ’ P
2+ =

‘ﬂ—(g - (-‘M@,,\é - (QL}@".\X y o+ (38@ mn\}L

A = 126@wm (by Jirour)

Vol = ('qswnm)é el (24(/),“‘“)3 . (32&) MM) I‘L

Rc
AC = (QU4@mm
H—6 ('Q6®mm)i + (‘72@"\0\\ S - (220 me )

RO = (22@ mm

Tae ("'”/552 = ey . '?/53PL>

Tan = The@ne -
Tac = Tae @ac = Tac (- Yz - a5 - Yz )
Thos, o~ T . = (?’%m)((—qs@m\ i+ (720 m)5 - (220 mm)h )]
2 (ke sYi s (180 w3 - (B85 w) @
P - pT

Subg:&u«&:h& “\to £F9 = O
= 4g 1y
P =z /63 Tﬂ‘ + 3 Tnc + 2"—@ ~

—
b 12/83 Tng + 3/,3'('“ = ([B8ow

£ =

3
19/63 Tan “/1a Tac = 65w

—
L8

Lug.7 ™

solu:t\o\ g Tag

Tae = B41.7 v

P: qbo w




-

LReu‘.ew Problem 91
e

— e
A My Mg 3 Foe 88 M3 Fas Btk
a—p — — - - 7~
M. - e »x F = (3@=~)2>‘["6lﬂ$ 2+ \fﬁ
= (48 b ) H !
Ma = T x T2 = (-8 )7 - (573
d_°‘= ‘J(o)‘o(s)";((o)" = S’J_S-'-A-
r
F; = ao”’/s.rg (5) o l@“—§
F. = 848 [(1 )3 = (2p) ]
Ml = QJS— s S [
5 -5 @
@ | .2

= QJ—E[C(@ Ib-‘-a-)_i.¢ (3@ (b"-n.)-‘: 4 C(S l\:.‘.&)z]

M = (178,885 (bin )7 + (S36.4¢ thin)S - (3067 (biny T
M

= J(l7a-s:s)‘+(ssc.g)‘~ (au.s7)t

M = 6@3,Qq fh-nf

—
Coxs = M/

@.29617¢ + @ 88855 - @.3504

Cos@,.

Q.25 — 732.8°

Cos @,

@.8886

— 27.3*°
~y

Cos@, = -@ 380k — ll©.6°

Sclvdien Copied d-_\-ec._.u3 Erom

4ex+bo°u, Cheew tath .




5T ¥ “The  sSustem consistis ofF he Force
— — - -
M ond Couple F = 2¢ «+ 65 + 2R
—’
x M = IR? + 47 v 4R
¥
z neprg5en4 s bu\ o wrenc\r\j anad
Sas
1 > determine where dhe line of oction
= ;
J\H' OF dhe (reneh's Force ntersects
D
/ . the x -2z plane.
_.

( D U'd“nﬁ F b& sis Moan:tode 4o obtain c Ga:d Vector €
—'
‘ Wwith  the some direction os F
— —
€ =F/F = 3i.6:-2n = 04297 « ©.657F + G2se %

4 (2 )+ (a)r

\

M, - (2.R)2

=> [l 42a)12) + (©.882)(%) (@.285)(‘)15’

-
-—

Guws: « 6.8677 + 2.939 B wom.

The Cempenent OF M Normal

4o

5

Ma

—

13

—’
s M -

=

Mo

\

MG - (7.8437 - 4.81¢T 3.6 B) wem

e

e wrenen  Ts Shown in  +hic Frquce,
= - -
— — —
x @ = -6z ¢ -(C2x-33)> + bx
3 6 2

35 eguatina,  +his Momendt

o

Ma

—6:? & (2:-3:)?4- 61'- :'

- i .
7.692; -U4.gies « 3. 041 &

ue cbtain +re €guaiions
-6 = 7.6487%
—'
Ax - %3 = -4L4.81€ 5
6!. = 3.@6(

Pl(wsle, @ -1.25)




